INVITATION TO BID

DATE:  9/29/2023 THIS IS NOT AN ORDER Page: 5
BID NO.: 50-00143594 JEFFERSON PARISH
PURCHASING DEPARTMENT
P.0. BOX 9
GRETNA, LA. 70054-0009
504-364-2678
VENDOR: 27118 BLANK BID COPY VENDOR PURCH/S\E(')NLGSESPEC'AUST

As per LSA-RS 47:301 et seq., all governmental bodies are excluded from payment of sales taxes to any Louisiana taxing
body. Quotations shall be based on F.O.B. Agency warehouse or jobsite, anywhere within the Parish as designated by the
Purchasing Department.

JEFFERSON PARISH reserves the right to cancel all or any part of an order if not shipped promptly. No charges will be
allowed for parking or cartage unless specified in quotation. The order must not be filled at a higher price than quoted.
JEFFERSON PARISH reserves the right to cancel at any time and for any reason by issuing a THIRTY (30) day written
notice to the contractor.

JEFFERSON PARISH is expecting all products to be new and all work to be done in workman-like manner, according to
standard practices. Any deviations or alteration from the specifications must be indicated on the bid form for each item
and upon request, product data for same must be submitted by the time specified by the Purchasing Department.

DELIVERY: FOB JEFFERSON PARISH
INDICATE DELIVERY DATE ON EQUIPMENT AND SUPPLIES

4 Wk g o

INDICATE STARTING TIME (IN DAYS) FOR CONSTRUCTION WORK
INDICATE COMPLETION TIME (IN DAYS) FOR CONSTRUCTION WORK

In the event that addenda are issued with this bid, bidders MUST acknowledge all addenda on the bid form. Bidder must
acknowledge receipt of an addendum on the bid form by placing the addendum number as indicated. Failure to
acknowledge any addendum on the bid form will result in bid rejection.

Acknowledge Receipt of Addenda: NUMBER:

NUMBER:

NUMBER:

NUMBER:

LOUISIANA CONTRACTOR'’S LICENSE NO.: (if applicable)

*** ALL BIDDERS MUST COMPLETE SECTION BELOW ***

FIRM NAME: » ' )
LrDVITRIRE ~EemmELCIL L, il tRS F LorTPtls
SIGNATURE:

I y TITLE: B e
(Must be signed here) %/ M—w’ “%7/'/’ - / Kéf IIPE 1
PRINT OR TYPE NAME: gy LT
L [lsiim FRIPRS

ADDRESS: i
A0 BoX JF92
CITY,STATE: } ZIP: B
SN DLV ile LA, 79772
TELEPHONE: ) L B FAX: —— . sy
( ) S99 G)5-TAFF ( ) 879 F£77-/167
EMAIL ADDRESS:

W PRI 1M Ll opm

PP 7
TOTAL PRICE OF ALL BID ITEMS: $ ,5, j Zf’ 7 /




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 6

SEALED BID

ITEM
NUMBER

QUANTITY

UM

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

168.00

200.00

25.00

100.00

500.00

150.00

10.00

500.00

15.00

LF

EA

EA

EA

EA

EA

EA

LF

EA

Purchase of shop supplies for the
Jefferson Parish Eastbank Public Works
Warehouse-Sewerage

0001 - PIPE, PVC, SDR-26, 8 IN., 14 FT.
LENGTHS

SK NUMBER 00-0130020

0002 - NUT, HEX, 7/8 INCH - 9,

DOMESTIC, ASTM NO. A194, HEAVY HEX,
BAKED ON BLUE TEFLON COATING MEETS
ASTM B117, TO FIT TEFLON COATED

NO. A325 HEX HEAD BOLTS AND

NO. A242 T-HEAD BOLTS
SK NUMBER 00-0436690

0003 - WASHER, LOCK, 1 IN., GRADE

316 STAINLESS STEEL

SK NUMBER 00-0413310

0004 - WASHER, LOCK, 7/8 IN., DOMESTIC,
GRADE NO. 316 STAINLESS STEEL

SK NUMBER 00-0413010

0005 - WASHER, FLAT, 3/8 IN., GRADE

316 STAINLESS STEEL, FASTENAL NO. 78017
SK NUMBER 00-0411320

0006 - BOLT, HEX HEAD, 3/8 INCH - 16 X

2 INCH, GRADE NO. 316 STAINLESS STEEL,
FASTENAL NO. 77111

SK NUMBER 00-0411400

0007 - PLUG, 1/4 IN., GRADE NO. 316
STAINLESS STEEL, HEX HEAD, I.P.T.,
FASTENAL PART NO. 0464286

SK NUMBER 00-029235A

0008 - HOSE, SEWER CLEANER, 3/4 IN. X
500 FT. ROLL, PREDATOR, 3000PSI, BLUE
COVER COLOR, 3/4 IN. ID X 1.15 IN. OD,

PARFLEX NO. $912-500
SK NUMBER 00-0303600

0009 - BELT, NO. 3VX375, GATES
SUPER HC

s MO 6o

2N

s Mo Wi

$/(};/7

s /52. 55




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 7

SEALED BID

ITEM
NUMBER

QUANTITY

um

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

10

1"

12

13

14

15

16

17

1.00

25.00

36.00

50.00

12.00

10.00

1.00

200.00

EA

EA

EA

EA

EA

EA

EA

EA

SK NUMBER 00-0043100

0010 - BEARING, BALL, OPEN WITH SNAP
RING, NTN NO. 6308-NRC3

SK 00-0453830

0011 - BOLT, HEX HEAD, 3/8 INCH - 16 X
3/4 INCH, GRADE NO. 316 STAINLESS

STEEL
SK NUMBER 00-0411350

0012 - COUPLING, PVC, SCHEDULE 80,
1/2 IN., SOCKET X SOCKET (ELECTRICAL

CONDUIT FITTINGS ARE NOT ACCEPTABLE)
SK NUMBER 00-0690200

0013 - COUPLING, FLEXIBLE, SHIELDED,
6 IN. CLAY PIPE X 6 IN. SDR-26 PVC

PIPE, 5000 SERIES STRONG BACK RC
TYPE, STAINLESS STEEL SHEAR RING AND
CLAMPS, FERNCO NO. 5002-66RC

SK NUMBER 00-013553A

0014 - COUPLING, FLEXIBLE, SHIELDED,
4 IN. CLAY X 4 IN. SDR-26 PVC PIPE,

5000 SERIES STRONG BACK RC TYPE,
STAINLESS STEEL SHEAR RING AND
CLAMPS, FERNCO NO. 5002-44RC
SK NUMBER 00-013550A

0015 - ROD, ALL THREAD, 5/16 IN. - 18 X
36 IN. LONG, GRADE 316 STAINLESS STEEL,

FASTENAL NO. 0178003
SK NUMBER 00-0425750

0016 - VALVE, CHECK, 4 INCH X 6 INCH,
INCREASING, MUST BE 13-1/2 INCH FACE TO

FACE, FLANGED, IBBM, LEVER/WEIGHT,
EPOXY COATED, STAINLESS BOLTS/NUTS,
FLOW IS FROM 4 INCH TO 6 INCH,

M AND H NO. 3159-02

SK NUMBER 00-0621700

0017 - BOLT, HEX HEAD, 1/2 INCH - 13 X
1-1/2 INCH, GRADE NO. 316 STAINLESS

s §7.77

s 5977

5 /vp gW

N

s?o b




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 8

SEALED BID

ITEM
NUMBER

QUANTITY

UM

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

18

19

20

21

22

23

24

25

26

8.00

150.00

12.00

3.00

36.00

10.00

24.00

150.00

20.00

EA

EA

EA

EA

EA

LB

EA

EA

EA

STEEL, FASTENAL NO. 77209
SK NUMBER 00-0411880

0018 - BOLT, EYE, 1/2 IN. - 13, 3-1/4
IN. LONG SHANK, FORGED GALVANIZED,

WITH NUT, 2200 LB. WORKING LOAD LIMIT,
WITHOUT SHOULDER, CROSBY G-291

NO. 1043374

SK NUMBER 00-0271660

0019 - BOLT, HEX HEAD, 3/8 INCH - 16 X

2 INCH, GRADE NO. 316 STAINLESS
STEEL, FASTENAL NO. 77111

SK NUMBER 00-0411400

0020 - ADAPTER, PVC, SCHEDULE 80,
FEMALE, 1 IN. FEMALE SOCKET X FEMALE
THREAD, ELECTRICAL FITTINGS ARE NOT

ACCEPTABLE
SK NUMBER 00-0690720

0021 - KEYSTOCK, SQUARE, 1/2 INCH BY
36 INCH LONG, NO. 316 STAINLESS STEEL
SK NUMBER 00-0426300

0022 - VALVE, SHUT-OFF, 1/4 IN. FPT X

1/4 IN. FPT, 30 PS| MAXIMUM WORKING
PRESSURE, BRASS BODY AND PLUG,

PARKER NO. V403P-4-4
SK NUMBER 00-0621210

0023 - PACKING, 3/4 IN., GRAPHITE
IMPREGNATED, MULTI-LOC BRAIDED, 10
LB. BOX, ANCHOR NO. 1337

SK NUMBER 00-0620720

0024 - OIL, MOTOR, SAE 30, HIGH
DETERGENT, QUART BOTTLE

SK NUMBER 00-0012000

0025 - NUT, HEX, 5/16 INCH - 18,

NO. 316 STAINLESS STEEL

SK NUMBER 00-0411100

0026 - ELBOW, PVC, SCHEDULE 80, 90
DEGREE, 4 IN., FEMALE SOCKET X

s/\/‘;) ﬁ”&

4\

s /0 1%




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 9

SEALED BID

ITEM
NUMBER

QUANTITY

um

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

27

28

29

30

31

32

33

34

35

15.00

6.00

25.00

500.00

10.00

12.00

10.00

50.00

8.00

EA

EA

EA

EA

EA

EA

EA

EA

EA

FEMALE SOCKET, ELECTRICAL FITTINGS
ARE NOT ACCEPTABLE
SK NUMBER 00-0690180

0027 - COUPLING, PVC, SCHEDULE 80,
4 IN., FEMALE SOCKET X FEMALE

SOCKET (ELECTRICAL CONDUIT FITTINGS
ARE NOT ACCEPTABLE)
SK NUMBER 00-0690340

0028 - BELT, 5L500 DAYCO DURAPOWER
SK NUMBER 00-0041500

0029 - ELBOW, MALE, BLACK POLYPROPYLENE,
3/8 IN. TUBE X 1/4 IN. MPT, PARKER

NO. P6ME4

SK NUMBER 00-0305190

0030 - SCREW, SELF-DRILLING, HEX

WASHER HEAD, ZINC PLATED, NO. 8 X 3/4

IN., FASTENAL NO. 32030

SK NUMBER 00-0420810

0031 - SCREW, SOCKET SET, NO. 304

STAINLESS STEEL, 3/8 INCH NC BY 1/2

INCH LONG, CUP POINT

SK NUMBER 00-0421970

0032 - NIPPLE, GALVANIZED, 1/4 INCH X

4 INCH, SCHEDULE 40, FASTENAL NO.
4666716

SK NUMBER 00-0296010

0033 - BUSHING, GALVANIZED, SCHEDULE

40, HEX, DOMESTIC, 2 IN. X 1 IN.,

GRAINGER NO. 5P895

SK NUMBER 00-0290500

0034 - ANCHOR, WEDGE, 316 STAINLESS

STEEL, 3/8 IN.-16 X 2-3/4 IN., REDHED

NO. SWW-3826

SK NUMBER 00-0425500

0035 - ADAPTER, PVC, SCHEDULE 80,
1/2 IN., FEMALE SOCKET X FEMALE

s M LK)

s S5 6

s /M0 PO




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 10

SEALED BID

ITEM
NUMBER

QUANTITY

u/m

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

36

37

38

39

40

4

42

43

45

2.00

3.00

2.00

10.00

4.00

3.00

.00

30.00

3.00

2.00

EA

EA

EA

EA

EA

EA

EA

EA

EA

THREAD, ELECTRICAL CONDUIT IS NOT
ACCEPTABLE
SK NUMBER 00-0690700

0036 - CONNECTOR, SEALTITE, STRAIGHT,
1-1/2 INCH, APPLETON NO. ST-150

SK NUMBER 00-087719F

0037 - BUSHING, HEX, GALVANIZED,
1-1/2 INCH X 1-1/4 INCH, SCHEDULE 40

SK NUMBER 00-0290350

0038 - GAUGE, PRESSURE, 0-15 PSI,
2.5IN. FACE, 1/4 IN. MPT BOTTOM

CONNECTION, ENAMEL CASE
SK NUMBER 00-0695050

0039 - ROD, ALL THREAD, 3/4 IN. - 10 X
36 IN. LONG, GRADE 316 STAINLESS

STEEL
SK NUMBER 00-0425900

0040 - BASE, RELAY, 8-PIN, SPDT/DPDT/
3PDT, 10 AMP, 300 VOLT, IDEC NO. SR2P-05

SK NUMBER 00-0858450

0041 - FITTING, GREASE, 45 DEGREE,
1/4 IN.-28UNF, 13/64 IN. SHANK,

3/8 IN. HEX SIZE, SAE-LT TAPER
THREAD, ZINC PLATED CARBON STEEL,
8000PSI MAX, ALEMITE NO. 1637-B1

SK NUMBER 00-0301560

0042 - COUPLING, (CROWFOOT), AIRHOSE,
GALVANIZED MALLEABLE IRON, 3/4 IN.

FEMALE PIPE THREADS, AIRKING NO. AM-8
SK NUMBER 00-0301740

0043 - FILTER, AIR LINE, 1/2IN.,
250 PSIG MAX. PRESSURE, WITH REPLACEABLE

40 MIRCON SINTERED BRONZE ELEMENT,
10 OZ. METAL BOWL WITH SIGHT GLASS,
ARRROW NO. F374W

SK NUMBER 00-0303740

0044 - BOX, SWITCH, WITH PLASTER TABS,
2IN.W X3 IN. H X 2-1/4 IN. D.

s M ;glﬁ

)




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 1"

SEALED BID

ITEM
NUMBER

QUANTITY

um

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

46

47

48

49

50

51

52

53

1.00

8.00

160.00

30.00

15.00

10.00

8.00

220.00

EA

EA

LF

EA

EA

EA

EA

LF

1-1/2 IN. KNOCKOUTS, 4 PRIOUTS, BEVELED
CORNERS, OLD WORK CLIPS ON SIDE,
RACO NO. 487

SK NUMBER 00-087391X

0045 - BREAKER, CIRCUIT, 100 AMPERES,
600 VAC, 3 POLES, SQUARE D NO. FAL-36100

SK NUMBER 00-0841150

0046 - ADAPTER, MALE, SCHEDULE 80 PVC,
3/4 INCH SOCKET X MALE THREAD,

MUST BE CONSTRUCTED AS ONE PIECE,
ELECTRICAL CONDUIT NOT ACCEPTABLE,
25/BX, FASTENAL NO. 0470494

SK NUMBER 00-0690910

0047 - PIPE, PVC, SCHEDULE 80, 1 IN. X

20 FT., PLAIN ENDS, (ELECTRICAL CONDUIT
IS NOT ACCEPTABLE), FASTENAL NO. 0472013
SK NUMBER 00-0691040

0048 - COUPLING, PVC, SCHEDULE 80,

3/4 IN., FEMALE SOCKET X FEMALE

SOCKET (ELECTRICAL CONDUIT FITTINGS

ARE NOT ACCEPTABLE)
SK NUMBER 00-0690220

0049 - ADAPTER, FEMALE, SCHEDULE 80
PVC, 3/4 INCH, SOCKET X THREAD,
ELECTRICAL FITTINGS NOT ACCEPTABLE
SK NUMBER 00-0690710

0050 - TEE, PVC, SCHEDULE 80, 1 IN.,
FEMALE SOCKET X FEMALE SOCKET X
FEMALE SOCKET, ELECTRICAL CONDUIT

FITTINGS ARE NOT ACCEPTABLE
SK NUMBER 00-0690400

0051 - ELBOW, SCHEDULE 80 PVC, 6 IN. X

90 DEGREES, SOCKET X SOCKET

SK NUMBER 00-0690190

0052 - PIPE, PVC, SCHEDULE 80, 1-1/4

IN. X 20 FT., PLAIN ENDS, NO BELLS
(ELECTRICAL CONDUIT IS NOT ACCEPTABLE)

s /*V by




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 12

SEALED BID

ITEM
NUMBER

QUANTITY

U/M

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

55

56

57

58

59

60

61

2.00

4.00

2.00

36.00

20.00

36.00

1.00

20.00

EA

EA

EA

EA

EA

EA

EA

SK NUMBER 00-0691060

0053 - UNION, PIPE, SCHEDULE 80 PVC,
1-1/4 INCH, FEMALE SOCKET X FEMALE

SOCKET, MUST HAVE VITON 0-RING SEAT
SK NUMBER 00-0690580

0054 - GAUGE, PRESSURE, 0-60 PSI,
2-1/2 IN. DIAMETER FACE, 1/4 IN.

MALE PIPE THREAD BOTTOM CONNECTION,
BLACK ENAMEL PAINTED STEEL CASE
SK NUMBER 00-0695120

0055 - ELBOW, PVC, SCHEDLUE 80, 45
DEGREE, 1/2 IN., FEMALE SOCKET X

FEMALE SOCKET (ELECTRICAL FITTINGS
ARE NOT ACCEPTABLE)
SK NUMBER 00-0690490

0056 - VALVE, BALL, BRASS, 1/4IN.,
FEMALE PIPE THREADS, 150 PSI WSP

RATED, GRAINGER NO. 6GD11
SK NUMBER 00-0622480

0057 - STRAP, 1/2 INCH, 1 HOLE, EMT
CONDUIT

SK NUMBER 00-0879900

0058 - CONNECTOR, CABLE, NONMEATLLIC
SHEATHED (ROMEX), DIE CAST ZINC, TWO

SCREW, 3/8 IN. FOR 1/2 IN. KO, 14-2
TO 12-2 CABLE, APPLETON NO. C-500,
EGS NO. C510

SK NUMBER 00-087796A

0059 - VALVE, CHECK, WAFER, 6 IN.,
DUCTILE IRON BODY, EXTERNAL SPRING

AND LEVER, SS HARDWARE, 2-3/4 IN.
FACE TO FACE, ANSI CLASS 150, ANSI
B16.1, ENDURO-BOND, KF EAGLE SERIES
18 NO. 7394-126K419191, MILLIKEN 700
SK NUMBER 00-0621930

0060 - CLAMP, CHANNEL PIPE, FOR 1 IN.
RIGID ELECTRICAL CONDUIT, WITH BOLT

AND NUT, 2 PIECES EQUALS 1 SET,

s MV A,




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 13

SEALED BID

ITEM
NUMBER

QUANTITY

U/M

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

62

63

64

65

66

67

68

69

20.00

2.00

5.00

2.00

4.00

4.00

3.00

2.00

EA

EA

EA

EA

EA

EA

EA

EA

UNISTRUT, STAINLESS STEEL, TYPE 304,
MCMASTER-CARR NO. 3115T44
SK NUMBER 00-087894A

0061 - BOLT, HEX HEAD, 1/2 INCH - 13 X
2-1/4 INCH LONG, GRADE NO. 316

STAINLESS STEEL
SK NUMBER 00-0411910

0062 - FITTING, GREASE, 45 DEGREE, 1/8
IN. PTF, 19/64 IN. SHANK, 7/16 IN.

HEX SIZE, SAE SHORT TAPER PIPE THREAD,
ZINC PLATERD CARBON STEEL, 8000PSI
MAX, ALEMITE NO. 1688-B, GRAINGER NO
5PU14

SK NUMBER 00-0301510

0063 - BELT, NO. 3VX-500, DAYCO
POWER-WEDGE COG

SK NUMBER 00-0041050

0064 - VALVE, CHECK, 1-1/4 INCH FEMALE
IRON PIPE THREAD, NO LEAD BRONZE
ALLOY WITH MARKINGS, HORIZONTAL
SWING, REGRINDING TYPE, 200 PSI

RATED, Y-PATTERN, NIBCO NO. T-413-Y-LF
SK NUMBER 00-062138A

0065 - NIPPLE, GALVANIZED, 3/8 IN. X 4

IN., SCHEDULE 40, DOMESTIC

SK NUMBER 00-0296160

0066 - REDUCER, BELL, 3/4 INCH X 3/8

INCH, GALVANIZED, SCHEDULE 40

SK NUMBER 00-0292780

0067 - CONDULET, ALUMINUM (CAST),

TYPE LB, 1-1/2 IN., FORM 85 THREADED,
ALUMINUM COVER, GASKET AND STAINLESS

STEEL SCREW, APPLETON NO. LB150-A
SK NUMBER 00-0876450

0068 - BLOWER, 1/20 HP, 115V, 60HZ,
273 CFM, 1390/1640 RPM, DAYTON

NO. 1TDR3
SK NUMBER 00-0891700

s M0 Py

SN g/ﬂ

s /|3

s MO Bl

/\

Ur

NMNO B

s /9995

§ & 1,-‘"‘ 7/)




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 14

SEALED BID

ITEM
NUMBER

QUANTITY

u/m

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

70

7

72

73

74

75

76

77

78

100.00

1.00

7.00

2.00

1.00

6.00

20.00

5.00

5.00

LF

EA

EA

EA

EA

EA

EA

EA

EA

0069 - TUBING, POLY-FLO, 3/8 IN. OD,
IMPERIAL-EASTMAN NO. 66-P-3/8,

NATURAL COLOR
SK NUMBER 00-0304340

0070 - BEARING, BALL, OPEN,
NATCHI NO. 6319

SK NUMBER 00-045448A

0071 - CONNECTOR, SO CABLE, 1 INCH,
ALUMINUM, .500-.625 O.D., COOPER

NO. C-H OR IF-553A
SK NUMBER 00-0878080

0072 - COUPLING, REDUCER, PVC,
SCHEDULE 80, 1-1/2IN. X 1 IN.,

FEMALE SOCKET X FEMALE SOCKET

(MUST BE CONSTRUCTED AS ONE PIECE,
ELECTRICAL CONDUIT IS NOT ACCEPTABLE)
SK NUMBER 00-0692790

0073 - COMPRESSOR, AIR, 115 VOLT,
THERMALLY PROTECTED, THOMAS MODEL
NO. 2680CE44-B

SK NUMBER 00-0596250

0074 - COTTER PIN, 3/16 IN. X 2-1/2

IN. LONG, EXTENDED CHISEL POINT, 18-8
STAINLESS STEEL, FASTENAL NO. 74223
SK NUMBER 00-0423910

0075 - BOLT, HEX HEAD, 3/4 IN. - 10 X

6 IN. LONG, DOMESTIC, GRADE NO. 5,
BAKED ON BLUE TEFLON COATING MEETS

ASTM B117
SK NUMBER 00-0436680

0076 - BUSHING PVC SCH-80 1 1/4 INCH X
1 INCH MSXFT
SK NUMBER 00-0694060

0077 - NIPPLE, PVC, 1 IN. BY CLOSE,
THREADED, SCHEDULE 80 PVC

s M B

$ ZZf a7

s 33F. 00

s MBI

s /0 B0

s 8800

s 66907

s vO B

)




DATE: 9/29/2023

BID NO.: 50-00143594

INVITATION TO BID FROM JEFFERSON PARISH - continued

Page: 15

SEALED BID

ITEM
NUMBER

QUANTITY

um

DESCRIPTION OF ARTICLES

UNIT PRICE
QUOTED

TOTALS

79

80

81

82

83

84

4.00

25.00

50.00

1,120.00

1,120.00

8.00

EA

EA

EA

LF

LF

EA

SK NUMBER 00-0694830

0078 - ELEMENT (SPIDER), COUPLING,
(L) TYPE, SOX (NBR), SOLID, FOR

L-190, LOVEJOY NO. 685144-12274
SK NUMBER 00-0632610

0079 - BOLT, HEX HEAD, 1/2 INCH - 13 X
1-3/4 INCH LONG, GRADE 316 STAINLESS

STEEL
SK NUMBER 00-0411890

0080 - GASKET, DROP-IN, 4 IN.,
RING-STYLE, 4-1/2IN. I.D. X 6-7/8

IN. O.D., BLUE-GUARD 3000 MATERIAL,
150 PSI, 1/16 IN. THICK
SK NUMBER 00-0490200

0081 - PIPE, PVC, SDR-26, 6 IN. BY
14 FT. LONG

SK NUMBER 00-0130010

0082 - PIPE, PVC, SDR-26, 8 IN.,
14 FT. LENGTHS

SK NUMBER 00-0130020

0083 - PUMP, SUMP, 1-1/2 IN., CAST

IRON BODY, PENTAIR/MYERS NO. MS33D10,
115V, 3000 RPM, 10 FT. POWER CORD,
(REPLACES HYDROMATIC PART NO.
51843-010-7 MODEL NO. DA-1

SK NUMBER 00-0574100

Brooir 4 - ASHLAND mio# 5’33[{%/ v
spee SHEET ATIHCNED

DELIVER TO:
PUBLIC WORKS WAREHOUSE
1500 RIVER PARK ROAD
BRIDGE CITY, LA 70094

s 4176

s 1409

s /70 bW

N

$ J

v

s v Biv

5 /ff/ 00

s 534 00




